¢ EARIOTELZY 19P FfRsFF % 1071396815A%%
a4 p ¢ ERARIOTEL2? 20p A2ik 2 8 # F 2%

R4 7 1&95 (%I xdFwet) (%2 &)
(RLPFP wd 3T 4% 2 &% B¢ 5w p 5Tt
FRLFREACA0ELERR) &

7 FCR
% ] -

B

k|

O;EJ—: )

LL ]/;ﬂJ 4

- 1/6000




+

|
k)=t 1/6000

=
"
fah
=
=

B e
- KB b
B g
- ELI A N
D B

@4 3 re | P )'lfé’\z(‘}l; @"—Lgﬁf;fé #* ) ] ’}‘E@I—@—Eﬁ)}} s

\D b
g\ﬂ 111‘-;'\

e o=
M P W
g\ﬂ g\ﬂ

}q‘J.
7

s ] e " = =
=

R I R = B
—_ RLEE — gL
B e g s

¥ % ol

g
e
e
gl
TS
i

SAIR Y M E Y RO
LB B
Lok B

Ot
4

il

A Ak
o
£ %
S
\t\y
Y Y

LEPMEP TCH) & dpad e g o
AR FEATET -

2. MBI AP F R ARL01E RIE R A o

Bp T R IR E L




]

v
R

NI TS LN
~ )

iff

FERIDE

(e

¢

s>
Ay

3

i A

=

M (A RF 3 o

o =

)
",

e ) (OBoR W) (ZEESEEE S M) 25 e M3t B b i

RERT S

Qg
=

)

Shh o Sy e~ —

~
—
~

R

v = 1/6000
BAASM 4 SRy




\

A

I~
A

4
o

FHE D

Tf

7~ (e i 3 oo g

[
o

i (A SE O o

o 2
FREWET S e) (R w) (AFBREN M) B 2 B e e

N :
€;A§§%g§?mmmh.

SN 2%

£

<
(o

)

R B SR~

vk = 1/6000
BETBH © 4 S Sy




